N of associated (recoToSim) looper tracks vs normalized X’

) tracks vs normalized x?

recoToSim)

[{

track x?

berset

SR

[N o associated

[N of reco track vs normalized x2 ]

0.95F=---t-q--v---

0.95/

syoen

syoen

syoel arealdnp olrey syoeu areandnp
I o
N <
00 X
— O
s
© 5
—
<
—
N
—
o
—
[ee]
©
<
o
2 < B
] =) ()
(=} - - -
syoel axey
I o
N <
00 X
— O
g
© =
—
<
—
o
—
=)
—
o
©
<
o
L PIIPEE MYTTEREN TTTTA A
= 2
S
syoel) any oney syoel any
o
o T 3
R E2
. wx [23
o € P
- F-l
< s
— 9494
afal
o
—
=)
—
0
. © "
6
g
<
]
g
9
3
L [P PP Y. 3
k]
=4




	Contents
	Page 1


